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Use the followmg equations to solve both Part A and Part B below N ) -
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Part A: Fill in the blanks below with a variable from the equations above.

1 N fj - is always positive no matter what lens is used [ WO
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3. — A\ is negam ¢ if the image is virtual. {1 o) n. Wl j‘;,sa
4. The focal length [ f )is __* 4 for a converging lens. iu(/ !VL [ : }1 a
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5. The focal lengtlt( i ) is for a diverging lens. 7 L
6. f\ o and h hights are positive when measured upward from
the principal axis and negative when measured downward. ] - -
!S ST T
7. M is posmve for an upnght image and negative for an mvertca@ image.
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Part B: Use the thin lens cquatxon and magnification equation to solve the problems
below. Show your work. - : e

1. A statue Wlth a height of 15 cm is placed in front of&com‘fergmg lens. An mverted

(a) Use the magnification equation to calculate the magmﬁcatlon of the lens
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(b) What type of i 1mage is it? S ¢ %5&%5;2@
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2. A convergmg lens has a focal length of 14 cm. A candie is located 32 cm from the lens

Whe%e will the image be located’ U P
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Lens Equations (continued)
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3. A coffee cup of helght 18 cm is placed in front of a converging lens. An i xverié'd -
real i image of height 5.3 cm is noticed on the other side of the lens. What is the
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v o= BY gy of the lens as the cap, a v1rtua1 image of Belght 1 6 cm’ls noticed.
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L (a) What is the magmﬁcatxon of the lens? Tl R
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(b) Whatis the amtu S of 1 the 1mage> DM ey — LT K
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%5 A diverging lens has a fo al length of 25 cm. A virtual image of a jar is located 10 cm
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S 2% ¢4 ip front of the lens. Where is the jar located? E )
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6. A bird’s nest is 38 cm from a converging lens. This lens has a focal lengt}:\f T8cm—
i = %\% " Use the thin lens equation to calculate where the i image of the nest will be located.
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observed —8 cm From the lens. Calculate the focal Iength of this lens. gft_’ = g%(\“}
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8. A convergmg lens has a focal length of{ 16 cm. A mouse is located 26 cm Tronrthe
{; . §§<¢ ¢ lens. \Where will the image of thc mouse be located?
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